Name
  Date
  Class



Algebraic Reasoning
Practice A: Variables and Algebraic Expressions

Find the value of n  3 for each value of n.


1.
n  4
2.
n  7
3.
n  0
4.
n  32

Find the value of x  9 for each value of x.


5.
x  12
6.
x  57
7.
x  19
8.
x  100

Find the value of each expression using the given value for each variable.


9.
3n for n  4
10.
x  8 for x  8
11.
9p  6 for p  2


12.
n  5 for n  35
13.
6x  18 for x  0
14.
s  7 for s  8


15.
3w  5 for w  3
16.
c  9 for c  12
17.
2a  3 for a  6


18.
y  z for y  10 and z  20
19.
3w  2v for w  7 and v  8


20.
4a  b for a  6 and b = 4
21.
5s  4t for s  3 and t  4


22.
The expression 7w gives the number of days in w weeks. 
Find the value of 7w for w  20. How many days are there 
in 20 weeks? 





_____________________


23.
A cat can run as fast as m  2 miles per minute in m minutes. 
Find the value of m  2 for m  10. How many miles can a 
cat run in 10 minutes? 





_____________________


24.
Tyrone works 8 hours a day. You can use the expression 8d to 
find the total number of hours he works in d days. How many 
hours does he work in 5 days? 





_____________________


2.
4; 7; Commutative
25; 4; 7; Associative
100; 7;
700; 


3.
8;
10; 8;
50; 40;
90; Distributive


4.
1;
30; 1;
180; 6;
174; Distributive

Challenge

	612
	621
	374

	306
	612
	540

	86
	612
	612


	768
	864
	864

	768
	256
	864

	256
	300
	864


Problem Solving


1.
Possible answer: $45  $17  $25; use the Commutative and Associative properties to rewrite the expression as ($45  $25)  $17, then 
add mentally.


2.
Possible answer: (12 • 8) • 25, 
12 • (8 • 25); 12 • (8 • 25) is easier to multiply, because 12 • 200 is easier to multiply than 96 • 25; 2,400


3.
270 mi


4.
Possible answer: Yes. Since 50  14   64, 6(64)  6(50  14)  6(50)  6(14).


5.
A
6.
J


7.
C
8.
H

Reading Strategies


1.
16 and 14


2.
16  (14  39); Commutative Property

3.
(16  14)  39; Associative Property

4.
69
5.
35 and 5


6.
47  35  5; Commutative Property


7.
47  (35  5); Associative Property


8.
87

Puzzles, Twisters, & Teasers


1.
Associative Property


2.
Identity Property


3.
Distributive Property


4.
Commutative Property


5.
(5  7)  6
6.
5(70)  5(6)


7.
70  11
8.
7 • (5 • 6)


9.
5(7)  5(6)
10.
5(70)  5(6)

11.
(5 • 70) • 6

THEY KEEP THEIR EYES PEELED

Answers for Lesson 3

Practice A


1.
7
2.
10


3.
3
4.
35


5.
3
6.
48


7.
10
8.
91

9.
12
10.
16

11.
12
12.
7

13
.
18
14.
1

15.
14
16.
3

17.
4
18.
30

19.
5
20.
6

21.
31
22.
140 days

23.
5 miles
24.
40 hours

Practice B


1.
3
2.
116


3.
27
4.
54


5.
27
6.
5


7.
32
8.
12


9.
35
10.
268

11.
57
12.
80

13.
8
14.
23

15.
43
16.
8

17.
120                        18.
10 squarefeet                19.275 miles
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